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012131 45 676 8 9:9;<=>? @ =9;
X = 4, 8, 9, 13, 15
p = 4, 34, a, b, 2
M(X) = 9.8943

+
D(X) = 5.8181

012131 45 65 6 8 AB A;<= CD AE9;
X = 5, 7, 11, 13, 16
p = b, 32, 45, a, 9
M(X) = 10.5760

+
D(X) = 8.5002

012131 45 64 6 F <;> GB9HB A;
X = 4, 8, 11, 12, 16
p = a, b, 47, 32, 9
M(X) = 10.3060

+
D(X) = 6.9138

012131 45 6I 6 J9K 9LM>; G 9B AN >O
X = 5, 6, 9, 13, 17
p = 9, a, b, 36, 6
M(X) = 9.4048

+
D(X) = 11.0981

012131 45 6P 6 Q <R<S<N <= TB AMRAO
X = 3, 7, 10, 13, 17
p = b, 37, 42, a, 10
M(X) = 10.3333

+
D(X) = 9.7182

012131 45 6U 6 V 9BWL A= @BXY
X = 3, 8, 11, 14, 15
p = 7, a, b, 35, 6
M(X) = 10.6667

+
D(X) = 9.0556

012131 45 6Z6 V <N H>; T;D<;
X = 3, 8, 10, 14, 17
p = 2, a, b, 33, 5
M(X) = 10.6803

+
D(X) = 7.8240

012131 45 6[ 6 \ <RA;M< TB AMRAO
X = 3, 7, 11, 13, 17
p = 7, 35, a, b, 7
M(X) = 10.3636

+
D(X) = 10.2011

012131 45 6] 6 ^ 9:<K <=9 C=ADB9;9
X = 4, 7, 11, 14, 15
p = 2, a, b, 34, 3
M(X) = 10.7265

+
D(X) = 8.3013

012131 45 67_ 6 ` AO:9;<= abH=>S
X = 3, 7, 11, 14, 16
p = 3, a, b, 37, 5
M(X) = 10.8049

+
D(X) = 9.6692

012131 45 6776 CDN c?M<= dN >O
X = 4, 7, 9, 13, 15
p = 5, 32, a, b, 7
M(X) = 9.8211

+
D(X) = 8.2444

012131 45 675 6 e>K <fAA=9 e9DXY;9
X = 3, 6, 9, 13, 16
p = 5, 35, a, b, 9
M(X) = 9.5760

+
D(X) = 11.7642

012131 45 674 6 g?9A= `<K 9;
X = 4, 8, 9, 13, 16
p = b, 34, 45, a, 8
M(X) = 10.1066

+
D(X) = 7.0788

012131 45 67I 6 h ARD9M<= G >MD<N
X = 4, 7, 10, 13, 15
p = 5, 31, a, b, 7
M(X) = 10.2047

+
D(X) = 7.6431



012131 45 67P 6 ^ 9:<K <= G i
X = 3, 6, 10, 13, 17
p = b, 34, 47, a, 11
M(X) = 10.1260

+
D(X) = 11.9369

012131 45 67U 6 F 9S>Y;<= j
X = 4, 7, 10, 13, 15
p = b, 35, 41, a, 8
M(X) = 10.2033

+
D(X) = 7.6579

012131 45 67Z6 kN lc;<=
X = 5, 7, 10, 12, 15
p = a, b, 43, 30, 7
M(X) = 9.7025

+
D(X) = 5.9280

012131 45 67[ 6 m no ponq
X = 4, 7, 11, 12, 17
p = 3, 33, a, b, 10
M(X) = 10.5040

+
D(X) = 8.2820

012131 45 67] 6 TNK 9;Hc ri
X = 5, 8, 10, 12, 17
p = 9, 38, a, b, 6
M(X) = 9.9338

+
D(X) = 5.9589

012131 45 65_ 6 Cc;X slYRb9;X
X = 4, 6, 11, 14, 17
p = a, b, 47, 33, 10
M(X) = 10.6124

+
D(X) = 13.8033
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